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Ag1-Day3 NOTES Dimensional Analysis ~ Name,

1. 5400 inche:

January 7, 2019 Monday 400/ | P (1~ b
(mﬁ 520K, fasig
1. Sally is on the All-City track team and has fo run the 100-meter dash. How many b ( le( xlz:\),} >5I'?3'b£; O_(
decameters will she rung

/sec to meters/sec ﬂ&
1G8 ™ . Nw(ﬁ\ll;z;; ;9;: . -

Ecch year, the New York City Marathon which is 42_km, is run by thousands of

ple. If you and two friends go run the marathon, how many meters will all '-(Q 3) J b) CM c
et o 117 H2ompm
\S O

,_.—_.’—
Y2000 m T24000 m

Arecipe for shortbread cookies calls for 5 grams of butter to make 12 S&SE%S

How many decigrams will there be in 60 cookies?

Y‘f?(l,

& Themoon is 280000 miles away. How many | 10.5 !yfemll::v r hour is how many
it from et

M . 35003 7\50,0000‘2&0”) 132000000 1+

Ohswers: 0D, 43000, 3-43,1500,000, wl

[

w

Jan 3-3:03 PM

10. Seventy-five miles per hour is how many
feet per minute?

RS2 AV

in

Jan 7-11:34 AM Jan 7-11:34 AM

- [S——
S it

9) How many seconds in 2 weeks?

;516800/0m L5 \203('0033'&"

2) How many feet are in 2 miles \

1T mile = 5,280 1t
1inch = 2.54 cn
3feet =1 yard
454 g=1lb

946 mL=1qt
4qt=1gal

4. 36 cm/sec to feet/min

*e (2[";?:\@ l%\oh):

n

.
10) How many minutes i the month of October?

T R ITATIG Yoo

D » tormyines e Lo
st e i

E
33W n b
MR o oot i

Q Yeyps ——

school year = 180 days & 1 day of school = 8

5 1 ug_g/mL to]hs/g_t mi

‘,0‘*5\(% Mom),

M| Ysy | %t 1 o oy e 2 s o
6. 32ft/secto mLLﬂ:S/jﬂC Q 21_. Apens 5 o o ey o ;
326 (m EEN I

Sec ‘ ‘Q* \ ‘.q ‘DO inches per day do you travel?

4 how
2,54 contimeters = L inch) ‘many miles per day does the turtle travel?

Jan 7-10:59 AM Jan 3-3:10 PM
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U1~Day3 Dimensional Anlysis Homewwork U~ Day3 Dimensionsl Analysis Homework
Name massof 225 kil
_ weigh?
Conversions Factors |
g7 264201~ 1 cubicmorer |
1kg=1000g 1lb=160z |
1= 1000 m. Tml— 1w 2saem—timn | 4. Afamily pool holds How

0.621mi = 100 km 1yd=36inches Lecis1om’

4 feet long, 10 feet high, and 9 inches

LA erere for
thick. How many cubic yards should he order? V= lwh

Sixty miles per hour is how many feet per minute?

2. Agame preserve
enough food to survive. Ifthe size of the preserve is 42 hm long and 560 dekameters wide, how

many deer can it support? A = lw. 6. Trent purchases 44 euros worth of souvenirs while on vacation in France. If$1U.S. = 0678

euros, find the cost of the souvenirs in ULS. dollars. Round to the nearest cent.

7. Asmall herd of

" that should be kept in this aquarium? V=lwh
herd consume in a year?

shown.
1 y ill a person run during a 10 ki
2. Th 0,000 mil How many
U1~ Day2 Unit Conversions & Dimensional Analysis HW U1~ Day2 Unit Conversions & Dimensional Analysis HW
11. You have the
with the following instructions: “Take 1 drop per 10 Ibs. of body weight per day divided into 4
doses until .
Conversions
Thour = 3600 seconds 1 mile = 5280 fect 1 yard = 3 feet
T meter = 325 feet 1 ki = 0.62 miles 1 Tight second = 300,000,000 meters
ke 221 11b - 045 ke T quart 0,946 it
Tms=22mileshour 1 foot = 12 inches Tinch =254 cm = 25.4 mm
1. 43 miles into feet 8. 36 cm/sec to feet/min
12 rty for f eat 4 slices. You call
dlearn that each piz 78 and it will be cut into 12 slices.
How much is the pizza going to cost you? You only have $70. Will you have enough money?
2. 165 pounds into kilograms.
3. 5,400 inches to miles 9. 1.09 g/mL. tolbs/qt
4. 16 weeks to hours. 1. Bvery threotime | cean my bcdroom, my mothermakes me anapplo i | ceanedmy
. @ reware
labor laws?
may have this very easy problem.)
5. Styardstocm 10.32 ft/sec to meters/sec
6. 19 inches to feet
1t 3 3
7. B40in to.cm. priced at $1.88 per package, what is the total cost of giving away pens?

Jan 3-3:12 PM Jan 3-3:12 PM

January 8, 2019, Tuesday Words for the organizer:

1) How many ounces are in 2 gallons? 128fl. 0z = 1 gal. Ll
squared, at least half of, difference, split equally, quotient, minus, sum, double, at most,

(g 12862\ I
’L 0{ 02 cubed, divided by, increased, more than, fewer than, product, times, no more than, half,
= 25hoz \ lagd
-
\ N 3 rl%o} subtract, add, raised to the power of, plus, takeaway, is greater than,triple, twice,decreased

2) Aperson weighs 156 pounds, convert their no less than
weight to kilograms.

<
,b\}‘%%&uﬁ :'70.’2.\% = ?Ol/\j :

3) How many centimeters are in 3.5 kilometers?

Jan 3-3:15 PM Jan 8-9:56 AM
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expoment
g1 Dyt Translting Fxpressions & Fauations ~ Vocsbulary Notes g1 Deys Transa Fautions CVocabulary o
. e XX
Addition 7 einsed N Subtraction Exponent by mes oo thtmumberoa okl | .
seol Tecpen v 3":-3333

ince e
Has W R E—
e+ b B [ IV
I;\UO“C’\ han Sobfknﬂ o Such 2.5, b o 10 stond 107 a fhed number ZX x conglant
twice oo Difference R SR———— F-16 T
Ve Algebraic Foctor
Blecse excise

Terms

Order of Operations

st iy cotton e i
Multiplication e

a\@ on 0212 Iy ra'ﬁu’“

uqred e Equations and mequal ies 7

1 B S Grenter bhen dyS 4 — PenDBs P
X

"’f\&‘;"‘-?‘t akleasHhalfoF sty

ot o o
oGl mps he 'Vl"l’?_d Al stes 3 ] 5
)‘ no Mmor¢ n S ] . -~
% b 1 fege than S 7‘4@. |3 a%.l ! %
Interpret Language in Math Expressions BT - 1S -
e e L S g mmmwm
e P K 1 r\- zq'o T i do e
K + 9y~ o fBhoms aAn=2200 Flofsy= £
",“’"m,:"m 10y + 0y 2 Fourtins e oot wigpo b = - 1‘4
fp ~Lx¥+Y% i oy = ;
i | remamssrriomsree | X0 4(x-2)> A0 YITEN

coethicient

Jan 3-3:16 PM Jan 3-3:16 PM

Le £+ column anly!

g1 Doy lating ns & Equations ~ Vocabulary Notes

10.Jerry puts 5

S e 4320 week into a etirement account, . He s paid
3 $11.00 per hour and worlks 40 hours per week
P-s4= for certain number of weeks, w. Write an

(e Translating by Keywords [
4 One hundved seeds divided by § rows squals | Operation Sentence Translated

1 number of seeds per row. Add

100
5 n

B » byis 1 Subtract
: $500, st

X+200=5pp

‘The sum of two and a number.
Three plus a number.

Four more than a number.

<+

Five increased by a number.

The difference of two and a number.

saleprice, , be on a $2530 dining room set? Three minus a number.

Fourless than a number.

A number decreased by five.

Multiply The productof two and a rumber.
6. This month’s sales of $2300 are double ‘hree times a number.
Jamuary's sales of

Amumber maitiplied by four,
(2300)2 =x
Divide ‘The quotient of a number and two.
The quotent of two and a number.

7 X PR Fey T

At diddty e
i Toy s sotng o
P et vt -

_ (] it i e

Equal Two more than a mumber equals 5.

‘When a number s divided by 2 and
decreased by 3, the result is 2.

o}

8 We started with x mumber of students. When
5 moved away, we had 42 left.

Y-5-41

Twvice the sum of a number and 3 s 10.

Jan 3-3:16 PM Jan 3-3:17 PM

January 9, 2019, Wednesday

f T —
8 Fvetmes the sum f  and  mumber 30, Translate the following equations or expressions.
5. Tho quoint ot e s han  umber ad s oquas

10, Two more han theproucof a mumber and s 42

1 The sum of two and a number

11, A numberis increased by seven, then doubled. The resultis 10

oV

12, Anne has rapples,aad Bobby has three more apples than Ane.

Bobbyhas.

Deniseis

apples

13, Chacliols yyears ol. Denlso s seven years older than halfhis age.

yearsold.

14, Emily has ccats and d dogs, and no other pets,

Four less than a number.

4er, N4

Sy s, pos altogether 3
15, Francino bought /m movies at a price of L5 cach. Three times a number.
Francine paid

Hx

Half of a number.

Twomore lhzn anumber equals .

2+0=5H

Jan 3-3:18 PM

Jan 3-3:19 PM
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Algebra 1~ Days Narming, Adding, Subtr Adding/Subiracing Polynomisls:
Simplify each sum. C0 ) lect |i ke terms.

Monomials e
. erp [Coe Hicient and/orvorioblk)
e ane feres 0e ncien 1) (6 -8x) + (3’ 4x) 2) i}iiszf’se)+(3_p‘3:‘ 2

Shimmtnte GAIHON VG RCHON et (e2-92) + EBC+ ) fop~3p% —lp
2x% + - Yx*

5

® n example of a polynomial in one variable, x would be X' +6¢” +12x+8

°
Simplify each difference.

o lar ec)eﬁft (4 3) (6+5»3]’-L(§+ ) N 4) (62 +8v— 5»‘)mﬁ 4

b Y4y -5¢ v 45v3-7v.

of a polynomial in one variable. A
® Example: The degree of 9—7x— 4D 3 because 2 JQ@@’ .:]VL . ”v.‘* Iy ~:}V“

P
© Fampe: e dereeftheolonagolmonis 6 A1) Sovd — Q04 NP4y
ials{ My Hiply-the Bt XY, but zdd dhe e xponents)

Sandardorm
1 Zx(x’ 4x1.2) - Use Distributive Property 2 xt3) (x 3) Use Box Method | pm ¢ 1ig Ui )

° Jeerea IR hiohest
A | ead,;\g coe FRCTERT “2(1-4x42) L XD Cotion

ettom, OTORY ' e maor w ~2R+3x-Ux Y| x* 3¢ < x&89%-9

c'acrec\smq EXDUNEATS rpg i
S i ~3-3¥ - «t-9

-4x3t X

© Fample: Write 9 - 4" in Standar Form:

Cooiatamed

T T T I —
o T mial 1 near 7x+10 c-6
ST A imeminl [ qredTatc
PO - Trowal |9 HUbic

— mowu 2 ok 8}

= 3
e syt rried 3L b 29+ Slox 40x +%9
U 4u<‘-3x3-2x-| g pdulmmm 5 5”“de‘jr¢e 23 x + W

Jan 3-3:19 PM Jan 3-3:20 PM

ut i i Neme ERCs E ) [Ty ma )
Wi ghestex: i
Complets the hrt blow J ARG e Righest
'F. T VAT ¢xm¢g . ,gbmn
(v ot ) arges] i
Polynomial “*“”"Rm.:"‘,..s“..ﬁ,ﬁ‘am Bl5g 2| ! e — S S
Ahen Tnq | & | 33| | frinomial { 3.3 4 -G-7 a0 G
Seqass1ng S[° | Fomomg 3 quaicr |
DEREY
5v-2 1152 15U
2 .Gy 243 (& 747 16.@-d+5) (F+d+5)
DES
T7.Ga+ %) (#b+22) 1. Iy ay) (% Sy + ey
D
DE=3
19, 6~ x, whatis the
perimeter?
=y
DECRUSSEE 70, The Tongih ofa reciangl ) P
the rectangle
§1le\ DS
| 21 Then i %
_— he triangle are represented by the expressions 25° S+ 3 and 21° x4, Find an expression or
Find thesum or iference. the third side of the riangle.
9. e+ (xx9) 10.6x 5+ (b I+ )

Jan 3-3:25 PM Jan 3-3:25 PM

Agetra 1 - Name Find each product.
Polynomi 11) 2mfam+2) 12) aslis - 3)
Simplity cach expression.
1 (4p < 2p)+(7p-3p%) 2) (80 + 307) - (60 - 20)
13) 64’ - 8x-4) 14) 646"~ 6k + 1)
3) (597 ph 5"~ 7p) PR S Ca]
15) (6n - 170 -2) 16) (s~ 5)(86-2)
5 (28 -8 (6 - 5) © x84 4) s 00 4)
17 (ap-3Nsp-4) 19 Cp=1p+)
D (5 g2l 2) 8 (857 - 6-3")- (0 -2-7)
19) (k4 86k +6) 20 (p-6op+5)
9) (26" =5+ )= (b7 - 5h° - 65)
20) s 1) < 60-8) 22) 2x+7)ar' - x-3)
10 (a6 e 20200 G- s ) 2) (8" + 8p-3Nap* = p+3) 24) (307 + Ta+ )30 - Sa— 1)

Jan 3-3:22 PM Jan 3-3:22 PM
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Agebra 1 Ul Day's Name
P — January 10, 2019, Thursday
Multiplying Polynomials

Find cach product.

1) 2nlm +2) 2 4rlar-s)

3) 6lar’ ~8x-4) 4) 64K - 6k + 1)

5 e e +3) & (6p-70p=3)

7 (8- 5H6x + 6) 8) (- 8)r 1)

9) (ks sk 7) 10) (35205 +2)

1) Cre e 8) 12) (- s +3)

13) (r=skar+ ) 14) Ga-5)"

Jan 3-3:24 PM Jan 3-3:28 PM

Algcbra 1 ~ U1 Day 6

Operations with Radicals Notes
Radical are in SIMPLEST FORM Wil

1) —Vsl5v10 4+ 12) (V3-25-1)

fractions are under the
- NO radicals are in the denor

al
inator

Practice:

What s th prime fuctorization o each mumber?
1 54 208 ol

13 V252 14) Vo3
Stmplify 15) Vizs 16 V21
3 Vi RETH

17 e 18) ~4vea.
Simplity - —

19) 3v112 20) 43128
When adding o subtracting radicl,the radicas must be xactly th same n order to combine
them. 21) V245 2) 5354

(ex V2 + 2222, but 7/2 4 V3 = V2 + 3 because the number under the radical is not

- - 2 2525 29235
DEEN 626
29 6o 20 022
27 3v20 425 26 334373
7 320 -+5 8 -2V5a - - R
29 33542358 0 3T
31y 2v8 - 31 32) 5 - 2Vas
sSimplify. 3) 2V58 =332 - Vs 34) 3327 42325 - Vas
o adi ol everyth . . -
together and then simpl vE
& P 39 Va5
(233375 =610 becaune2 3156 and2- 515 10) - o
7 ; 37 3.+ Vo) 38) Velvz +2+6)
DENEEN 103763
30 V3(V10 +3) 4y Vs(-sv2 + o)
a1 (5 +av3)3V5 <) ) (1435 +435)

Jan 3-3:28 PM Jan 3-3:28 PM

Alg1-Day7 . NOTES - Rational & Irrational Numbers.
January 11, 2019 Friday e fracion)
zero. Many | i e

Bxamples:5,0,7,3/2, 026

« 5is rational - you can simplify 3 d1

Irrational Numbers:
Can'y

Examples: 7,75, 7

Now,we want p tionals,rationals with
tonal tosce be.
Complete the additon table. Complete th table.
5 |12 |0 |v2 ™ 5 |10 |vE |G |x
5 |10 [ss EES
112 1
[} )
V2 V2
:
V2 =
™ B
of AYS true, which s
SOMETIMES true, and which is NEVER true?
1. The sum of a rational number and a rational nurmber i rational.
2 i i isimatio
s
- s rational,
. i isirmational.
6. The product isi

Jan 3-3:30 PM Jan 3-3:31 PM
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Algebra 1~ Day7 Rational & Irrational WS
Name

1) Determine whether the following numbers are rational or irrational.

PE
bt

o os7s

@ V5

€) 5.75.

) 034343434,
g) 0.248502856...
wE

0 V9

@ V0416
b) 245 1v7)
) VI+VE
OREIT)

3) Which statement s true about the value of (/6 + 4)7
I two rational

b) I I

I )

@ 1 ional, b

exampl.

@10

that

b) R+0

O R+l

DERY

o Re0

D 1.0

® ReR

) 1ot

i Rel

D Re1

W R+R

PIRES!

ber is. Then,
notes.

onyour

6 i iber is. Then, write 3 irrational

) Rational + Rational = Rational
b) Rational - Rational = Rational

€ Rational « Rational  Rational

d) Rational + Rational = Rational

©) Trrational + Irrational = Trrational
) Irrational - Irrational = Irrational
&) Irrational « Irvational = Iational
1) Treational + Irrational = Trrational
i) Rational + Irrational = Rational
i) Rational - Irational = Rational
k) Rational « Irrational = Rational

1) Rational + Irrational = Rational

, or nover true.

onyour

Jan 3-3:32 PM

Jan 3-3:32 PM

Jan 3-3:32 PM




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

